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7. TEPCIHEMN L, RFABASICATE S, SEIIXTMRI3EIE R E R AR IZ B
Mt —:. MR13. BASHR T2 &

MiR—:. £EEEIIE

MisR=:. ASCII %B%5IF

1. REFER
EHERN, BRETTERMEBAER RETCRBXXH.
P kR @IV 2. 10 #BEIRAE (words 3Tf)

e

BASICA.EXE -  COMOPAQ. BASIC

SRFP.BAS - BASICEZRyiBINF S &t

STAR253. BAS — BASICS#BISR25 DS 5 S B R &E &4
232T.BAS - BASICHYPCH12320 K F&$8RS485 Mk B 44

* FA P A HVindows IFE T AYWORDSHI”PRINT” $TENIE S B S FTENMRLS. doc XHRA .
2. B A /B ARERE

1. ES8F: EIA%RME RS-232C, RS—485
2. BNAR: RS-232C 3%k#XNT, B &
FRS-485 2%¥WT, % &
3. RTHES: BN ZILAEIR S RS
4. BINEEE: RS-232C 15 ¥
RS-485 500 % (ERLBRZEME)
5. BIfURE: 1200, 2400, 4800, 9600, 19200 E4F=R
6. fREIRIP: TARIP
7. BUEHEK: BURTAL, @GN, I



7 1 2
7 1
7 2
8 1 1
8 1 2
8 1
8 2
8 ASCII
9
3.
3.1 RS-232C
RS232C 9
D 3 » RD 3
RD 2 |« D 2
GND 5 G 7
RS232 , ’
3.3 485
RS232C 9 RS232/RS485 MR13 485
SO 3 | — p| 1RXD / TR+10 [&—»| + 9
RD 2 |€——— | 2TXD / sh- 9 (&> _ 3
GND 5 3 GND SG 6 5
RS485 ) (RDA)
(RSD) (SDA)  (SDB) )
7 7 7 b ( )
, ,RS485 , RS485
485
5 7
[T !
| 485 |
R
| /
T T !
et e 1
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4.
MR13 ,
MR13[1-14B]
:01~99
MR13[1-15B]
11200 2400 4800 9600 19200,
MR13[1-168B]
7E1,7E2,7N1,7N2,8E1,8E2,8N1,8N2.
7E1 7 1
TE2 7 2
7N1 7 1
N2 7 2
8E1l 8 1
8E2 8 2
8N1 8 1
8N2 8 2
Standard( ) SRFP( MR13/FP21
MR13[1-17B]
EEP EEPROM - EEPROM
RAM RAM s
MR13[1-18B]
1 STX_ETX CR 2 STX ETX CRLF
MR13[1-19B] BCC
BCC 1 Add( ) 2 Add_two's cmp(
MR13[1-20B]
0~125
RS485 u = *0 25 mS
: /
5. standard
5.1
1 /
PLC
MR13

3

MR13-(1) | | MR13-(2) | - -
d |

)

10

0_:_

)

F_'J'_'J'_'1

MR13(3)

CR

3 XOR(

BCC

)

4 None( )



5-2.
€Y

D

BCC
v ¥ s
a b d f g h i i
STX| 0 1 R 0 9 ETX | E CR | - -
@ 0 2 ] 0 0 , R : 7 CR | LF




: MR13[1-198] BCC

—~— 4
a b C d e g
(11)
STX 0 1 1 R 0 kel
0 0 2 1 W 0
2 1
a: STX(02H)  "@" (40H) , ,
: MR13[1-18B]
STX _ETX_CR STX ETX CR LF @ : CR
b: : 01 99
- MR13[1-14B] 101 99. ,
c: :MR13
1...... 1
2...... 2
3. 3
3
5-3 5-4
d:
“ R"  52H/ PLC MR13
“ W 57H/ PLC MR13
e: : 10300 ( ).
5-6
f 0 9
R W , , 10
R 0 3 0 0 9
5 2 H{30H|33H|[30H|30H|39H
0300H 0309H 10
W- , T 0 (
g:
W , “r
‘) 1 |2 (3 |4
W03000, ****( )
e:
00"
5-5
4 2
h: ETX O3H ‘" 3AH
BCC( )

ETX

CR
CR

LF




BCC(
BCC

(L)BCC

)

4 BCC
Add

02H

+30H

500
510
520
550
555
560
570
580
590
600
610
620
630
630

(2)BCC

STX

2
0

+31H +31H +52H +30H +31H +30H +30H +39H +03H = 1E3H
(1E3H)=E3H : “E"=45H, : “3"=33H
STX$="@"
ETX$=":"
TEX$="011R01009" :REM 0100-0109
CMD$= STX$+ TEX$ +ETX$ :REM
BCC=ASC(LEFT$(BCS$,1));
LEC=LEN(CMD$):BCC=0 :REM
FOR 1=1 TO LEC:S$=MID$(CMD$,1,1)
BCC=BCC+ASC(S$)
NEXT
BCC=BCC MOD 256:REM 8
BCC$="0" + HEX$(BCC): BCC$=RIGHT$(BCCS, 2): REM BCC ASC
END$= ETX$+BCCS+CR$+LF$: REM :
TXD$=STX$+CMD$+ END$:REM
RETURN
Add-two’S CMP
BCC  ):
1 1 R 0 1 0 0 9 ETX 1 D CR

02H +30H +31H +31H +52H +30H +31H +30H +30H +39H +03H = 1E3H

E3

BAS
500
510
515
520
550
555
560
570
580
590
600
605
610
620
630
640

=1DH

ICA BCC , s/

STX$="0"

ETX$=":"

STR$=STX$+ 011" :REM : .00
TEX$="R01009” : REM : 0100-0109

CMD$= STR$+ TEX$ +ETX$ :REM
BCC=ASC(LEFT$(BC$,1));

LEC=LEN(CMD$) :BCC=0 :REM

FOR 1=1 TO LEC:S$=MID$(CNDS$, 1,1)
BCC=BCC+ASC(S$)

NEXT

BCC=BCC MOD 256:REM 8
BCC=NOT(BCC) “REM BCC

BCC$="0" + HEX$(BCC): BCC$=RIGHT$(BCCS, 2): REM BCC ASC
END$= ETX$+BCCS+CR$+LF$S: REM :

TXD$=STX$+CMD$+ END$:REM

PRINT #1,TMD$ : REM 00

LF

LF



650 RETURN

3 BCC ( )(XOR):

ASCII

STX 0 1 1 R 0 1 0 0 9 ETj 2 1 CR LF

02H

BCC

~
o1
o/

wnNe oo o

v

30H 31H 31H 52H 30H 31H 30H 30H 39H
= =59H
cs /
500 STX$="@"
510 ETX$=":"
515 STR$=STX$+ "011” :REM : .00
520 TEX$="R01009” :REM : 0100-0109
550 CMD$= STR$+ TEX$ +ETX$ :REM
555 BCC=ASC(LEFT$(BC$,1));
560 LEC=LEN(CMD$):BCC=0 :REM
570 FOR 1=1 TO LEC:S$=MID$(CMDS,1,1)
580 BCC=BCC XOR ASC(S$)
590 NEXT
600 BCC=BCC MOD 256:REM 8

03H

= 59H

610 BCC$="0" + HEX$(BCC): BCC$=RIGHT$(BCCS, 2): REM BCC ASC

620 END$= ETX$+BCCH+CR$+LF$S: REM :
630 TXD$=STX$+CMD$+ END$:REM
640 PRINT #1,TMD$ : REM 00
650 RETURN
BCC none :
(.

1 2

ASC

PLC MR13

50 STX$="@"

) ) ,BCC
, ) BCC




“ 0711

d e f
R 0 4 9
d
e
f
0400H
9H
0400H 10
d g
R 0 0 0 0 6 0 6
e d
e €
® g
1
2
3
4
=1+4*
5
> 0 0400 001E 30
1 0401 0078 120
2 0402 001E 30
3 0403 0000 0
4 0404 0003 3
0405 0000 0
0406 03E8 1000
0407 0028 40




5-5

5
PLC MR13
,1 4800 9600 19200 BPS 2 1200 2400 BPS ,
, , ,BCC
(ACK)
PLC MR13 4-1 Loc
LOC COM =01 =1 STX_EXT CR, Add
AT ET
S 1 1 W 1 8 C 0 0 0 0 1 M CR
MR13 COM LED
1
d e | | g
w]oflaloJofJof,J]o]Jo]2]s
e d
e ¢
o T
LAY
1 “ ”
2
3
0400H
40H
0400H 40
—» 0 0400 1024 0028 40
0401 1025 0078 120
0402 1026 001E 30
2
d e
W 0 0
d:
e: 0 “0”
3

CoMm



w [ o | 9 |
d:
e:
5-5
MR13 “LOC” - , "R”
13 COM" : . ” R)! ” Wl)
"W “LOC”  “COM” -MR13 ,
MR13 “Loc” ’ MR13
MR13 CoM
10 CLR

30 STX$="@" ;ETX$=":"

40 BPS$="1200" :REM 1200

50 OPEN "COML:"+BPS$+",E,7,1,CD,RS,CS,DS" FOR RANDOM AS #1:REM
70 ADR$="01":CMD$="1W018C0,0001" :REM "01"

80 BC$=ADR$+CHDS+ETXS:

90 GOSUB 540

100
110
120
130
140
150
160
170
180
190
200
210
220
230
240
250
260
270
280
410
420
430
440
450
460
470
480
485
521
530

TXD$=STX$+BC$+BCCS+CHRS(13)
PRINT #1,TXD$

PRINT “SENDING DATA=";TXD$
T3=VAL(MID$(TIMES,7,2)):

IF(EOF(1)=0 THEN GOTO 170
T4=VAL(MID$(TIMES,7,2))

IF(ABS(T4-T3)<4 THEN 140 ELSE PRINT “OVER 2S AND COMMUNICATION ERROR!”
D$="":

AS=INPUTS(1,#1)

D$=D$+A%

IF A$=CHR$(13) THEN GOTO 220

GOTO 180

RBCC$=LEFT$(RIGHT$(D$,3),2)

LEC=LEN(D$)

BC$=MID$,2,LEC - 4)

GOSUB 540

IF RBCC$=BCC$ THEN 410

PRINT “BCC$”;BCC$:PRINT “BCC ERROR!”:PRINT D$
END

LEC=LEN(D$) :F$="":K=1

FOR P=6 TO LEC

N$=MID$(D$,P1)

IF N$=",” THEN U$(K)=F$:K=K+1:F$="" GOTO 470
IF N$=ETX$ THEN U$(K)=F$:N=K:GOTO 480
F$=F$+N$

NEXT

PRINT “RECEIVING DATA=":D$

PRINT “THE CODE OF RETURN:”:U$(1);

PRINT

END




540 BCC=ASC(LEFT(BC$,1));
550 L=LEN(BC$)

560 FOR N=2 TO L
570 BCC=BCC XOR ASC(MID$(BC$,N,1))
580 NEXT N

590 BCC$=HEX$(BCC)

600 IF(LEN(BCC$)=1 THEN BCC$="0"+BCC$

610 RETURN
/
0 ~ 255
ASCI I
0000 0000 | “ 0" *“ 0" 30H 30H
0000 0001 | “ 0" *“ 1" 30H 31H
0000 0111 | O0* “ 7* 30H 37H
0000 1000 | “ 0" *“ 8" 30H 38H
0000 1001 |“ 0" “ 9" 30H 39H
0000 1010 | “ 0" “ A" 30H 41H
0000 1011 | “ O ‘* B” 30H 42H
0000 1100 | “ 0" *“ C" 30H 43H
/

e R/W

e R

o W

° MR13 MR13

13 O” 13 8"
° MR13 MR13

“ 011 “ 8”




e UNIT
. -32768 32767
4
0000H
[ ]
5
“ o o« o
6 /
6
R /W
(16 /
0100 PV R
0101 E SV R
0102 ouT 0 100. 0% R
0103
0104 R
0105 R
0106
0107
0108 REM R
0109 R
010A R
0108 DI R
R /W
(16 7))
0111 RANGE R
0112
0113 DP 0: 1 R
0114 PV Sc L :-1999 9999 R
0115 PV Sc_H : R
R
(16 /W
0120 E_PRG R
0121
0122
0123 E_PRT H7FFE R
0124 E_STP H7FFE R
0125 E_TIM H7FFE R
0126 E_PID PID H7FFE R




o 1=CH1 2=CH2 3=CH3
® HHHH CJHH B - - - C - - - - REHH=7FFFH
® |LLL CILL RELL =8000H
° DI
=0 =1
D15 D14 D13 D12 D11 D10 D9 D8 D7 D6 D5 D4 D3 D2 D1 DO
0 o 0 0 0 0 0O OO ORMO O O O AT
0 o 0 0 0 00 OO 0O 0O O O EWE2 EV1
DI 0 o 6 0 0 0 00 O 0 0O O0OO0OTO0OTFDO D1
PRG/FIX 0O 0 0 0 O O O O O O O O O HLD RUN/RST
D15=1 D15=0 DO=1 DO=0
COMm 5-4
R/W
as_ ) /7))
0184 AT 0: 1: W
| 018C | Operation 0: 1: | W |
0190 PROG RUN/RST 0 RST 1 SUN W
/ CH1
0191 PROG HLD 0 1 HLD W
CH1
0300 sV | wR |
R/W
ae ) 7))
030A SV Limt_L W/R
0308 SV Limt_h
0314 REM SC_I R/W
0315 REM SC_H Z
0316 REM Bias -1999 5000 R/W
0317  REM Filt 0 100 R/W
031A REM-CH 0 OFF 1 CH1 2 CH2 3 CH3| R
CH1 SV Follow SW SV Foloow
- - - - 7FFEH OBH
o REM_CH
. /  (PROG RUN/RST) (PROG HLD) (PROG ADV) DI



R/W

(16 /7))
0320 SV Follow SW CH2 CH3 SV 1:0N R/W
0:NO
0321 SV Follow SV -1999 5000 R/W
0400 FIX P 0.0 999.9%(0.0:0FF) R/W
0401 FIX | 0 6000 (0.0:0FF) R/W
0402 FIX D 0 3600 (0.0:0FF) R/W
0403 FIX MR -50.0 50.0% R/W
0404 FIX DF 1 999 R/W
0405 FIX OUT Limt L 0.0 99.9% R/W
0406 FIX OUT Limt_H 0.1 100.0% R/W
0407 FIX SF F OFF 0.01 1.00 R/W
0408 Prog P1 1 1 0.0 999.9% (0.0:0FF) R/W
0409 Prog 11 1 1 0 6000 R/W
(0.0:0FF)
040A Prog D1 1 1 0 3600 R/W
(0.0:0FF)
0408 Prog MR1 1 1 -50.0 50.0% R/W
040C Prog DF1 1 1 1 999 R/W
040D Prog O_Lmt L1 1 0.0 99.9% R/W
1
040E Prog O_Lmt_H1 1 1.0 100.0% R/W
1
040F Prog SF1 1 OFF,0.01 1.00 R/W
1
0410 Prog P2 2 2 0.0 999.9% (0.0:0FF) R/W
0411 Prog 12 2 2 0 6000 R/W
(0.0:0FF)
0412 Prog D2 2 2 0 3600 R/W
(0.0:0FF)
0413 Prog MR2 2 2 -50.0 50.0% R/W
0414 Prog DF2 2 2 1 999 R/W
0415 Prog O_Lmt_L2 2 0.0 99.9% R/W
2
0416 Prog O_Lmt_H2 2 1.0 100.0% R/W
2
0417 Prog SF2 2 OFF,0.01 1.00 R/W
2
0418 Prog P3 3 3 0.0 999.9% (0.0:0FF) R/W
0419 Prog 13 3 3 0 6000 R/W
(0.0:0FF)
041A Prog D3 3 3 0 3600 R/W
(0.0:0FF)
041B Prog MR3 3 3 -50.0 50.0% R/W
041C Prog DF3 3 3 1 999 R/W




041D Prog O Lmt L3 3 0.0 99.9% R/W
3
041E Prog O_Lmt H3 3 1.0 100.0% R/W
3
041F Prog SF3 3 OFF,0.01 1.00 R/W
3
0500 EV1 MODE 0: 1: R/W
EV1 2: 3:
4: 5:
6: 7:
8: 9:
10:
=EV1_CH.
0501 EV1 Set Point 1. : 0 1999 R/W
EV1l 2. : 0 -1999
3. : 0 1999
4. : 0 1999
5.
6. :
=EV1 CH.
0502 EV1 Diffrnt 999 R/W
EV1 =EV1_CH.
0503 EV1 Inhibit 1 4 R/W
EV1l =EV1 CH.
0504 EV1 Delay 0 9999 R/W
EV1l =EV1 CH.
0506 EV1 CH R/W
EV1 1:CH1 2:CH2 , 3:CH3
0510 EV2_MODE 0: 1: R/W
EV2 2: 3:
4: 5:
6: 7:
8: 9:
10:
=EV2_CH.
0511 EV2 Set Point 1. : 0 1999 R/W
EV2 2. -0 -1999
3. -0 1999
4. -0 1999
5.
6. :
=EV2_CH.
0512 EV2 Diffrnt 999 R/W
EV2 =EV2_CH.
0513 EV2 Inhibit 1 4 R/W




EV2 =EV2_CH.
0514 EV2 Delay 0 9999 R/W
EV2 =EV2_CH.
0516 EV2 CH R/W
EV2 1:CH1 , 2:CH2 , 3:CH3
0520 EV3_MODE 0: 1 R/W
EV3 2: 3
4: 5
6: 7
8: 9
10:
=EV3_CH.
0521 EV3 Set Point 1. : 0 1999 R/W
EV3 2. : 0 -1999
3. -0 1999
4. -0 1999
5.
6. :
=EV3 CH.
0522 EV3 Diffrnt 1 999 R/W
EV3 =EV3_CH.
0523 EV3 Inhibit 1 4 R/W
EV3 =EV3 CH.
0524 EV3 Delay 0 9999 R/W
EV3 =EV3_CH.
0526 EV3 CH R/W
EV3 1:CH1 , 2:CH2 , 3:CH3
0580 DI 0:NON 1:FLW 2:RUN R/W
3:HLD 4:ADV
05B0 MEM 1:EEP 0:RAM R/W
0600 Out Actn R/W
0:Rev Act. 1:Dir Act
0601 Out Cyc ( :0.5 ) R/W
0.5 120.0
0602
0603 SOFTSW
0:OFF 1:O0N
0610 AT Point 0 5000 R/W
0611 Key Lock 0:0FF 1:LOCK1 2:LOCK2 3:LOCK3 R/W

0.5




e EV1_CH,EV2_CH,EV3_CH

CH_P

0701 PV Bias -1999 1999 R/W
0702 PV Filt 0 100 R/W
0710 PFLW CH2 CH3 PV R/W
0:0FF 1:0N
0711 CH_P 0-0 CH2,CH3 R/W
0: 1:
0800 FP_MOD R/W
0:FIX 1:PROG
( CH1 )
0801 PV_ST 0:OFF 1:ON R/W
( CH1 )
0882 STP 19 ( CH1 ) R/W
0883 RPT 1 9999 ( CH1 ) R/W
0884 ST_SV ( CH1 ) R/W
° CH1 PFLW 1-30 0-0
1-29 ---- TFFEH OBH
08A0 Stepl SV ( CH1 ) R/W
08A1 Stepl Time ( CH1 ) R/W
08A2 Stepl PID No PID PID R/W
08A3
08A4 Step2 SV ( CH1 ) R/W
08A5 Step2 Time ( CH1 ) R/W
08A6 Step2 PID No PID PID R/W
08A7
08A8 Step3 SV ( CH1 ) R/W
08A9 Step3 Time ( CH1 ) R/W
08AA Step3 PID No PID PID R/W
08AB
08AC Step4 SV ( CH1 ) R/W
08AD Step4 Time ( CH1 ) R/W
08AE Step4 PID No PID PID R/W
08AF
08B0 Step5 SV ( CH1 ) R/W
0881 Step5 Time ( CH1 ) R/W
08B2 Step5 PID No PID PID R/W
08B3
08B4 Step6 SV ( CH1 ) R/W
08B5 Step6 Time ( CH1 ) R/W
08B6 Step6 PID No PID PID R/W
08B7
08B8 Step7 SV ( CH1 ) R/W




08B9 Step7 Time ( CH1 R/W
08BA Step7 PID No PID PID R/W
08BB
08BC Step8 SV ( CH1 R/W
08BD Step8 Time ( CH1 R/W
08BE Step8 PID No PID PID R/W
08BF
08C0 Step9 SV ( CH1 R/W
08C1 Step9 Time ( CH1 R/W
08C2 Step9 PID No PID PID R/W
7 PC , BASICA , MR13
7.1 ASCII :
16 ASCI1
STX 02H CHR$(2)
ETX 03H CHR$(3)
EOT 04H CHR$(4)
ENQ 05H CHR$(5)
ACK 06H CHR$(6)
NAK 15H CHR$(&H15)
7 2. BASICA
D0S3.0 , BASICA
.BAS .
B21 B25 FP21 "D1",SR25"DS"
,PC , ,BCC
PC , BASICA , MR13
3:MR13.BAS
10 CLR
30 STX$="@";ETX$=":"
40 BPS$="1200" :REM 1200

50 OPEN "COM1:"+BPS$+",E,7,1,CD,RS,CS,DS"

55 LINE INPUT “INPUT ADDRESS=";ADR$

60 LINE INPUT “NEW ORDER=";CMD$;

80 BC$=ADR$+CMDS+ETX$:

90 GOSUB 540

100 TXD$=STX$+BC$+BCCS+CHRS(13)

110 PRINT #1,TXD$

120 PRINT “SENDING DATA=";TXD$
130 T3=VAL(MID$(TINES,7,2)):
140 IF(EOF(1)=0 THEN GOTO 170

150 T4=VAL(MID$(TIMES,7,2))

FOR RANDOM AS #1:REM

160 IF(ABS(T4-T3)<4 THEN 140 ELSE PRINT “OVER 2S AND COMMUNICATION ERROR!”




170
180
190
200
210
220
230
240
250
260
270
280
410
420
430
440
450
460
470
480
485
486
487
490
500

510
520
521
530
540
550
560
570
580
590
600
610

01, 2

D$="":

A$=INPUTS$(1,#1)

D$=D$+A$

IF A$=CHR$(13) THEN GOTO 220

GOTO 180

RBCC$=LEFT$(RIGHT$(D$,3),2)

LEC=LEN(D$)

BC$=MID$,2,LEC - 4)

GOSUB 540

IF RBCC$=BCC$ THEN 410

PRINT “BCC$” ;BCC$:PRINT “BCC ERROR!":PRINT D$
END

LEC=LEN(DS$) :F$="":K=1

FOR P=6 TO LEC

N$=MID$(D$,P1)

IF N$=",” THEN U$(K)=F$:K=K+1:F$="" GOTO 470
IF N$=ETX$ THEN U$(K)=F$:N=K:GOTO 480
F$=F$+N$

NEXT

PRINT “RECEIVING DATA=":D$

PRINT “THE CODE OF RETURN:”:U$(1);

PRINT

PRINT

FOR N=2 TO K

PRINT “THE DATA”;N-1;"1S:" ;VAL(“&H"+MIDS(US(N),1,1))*1673+VAL(“&H" +MIDS(US(N),2,1))*16"2+
VAL(“&H”+MID$S(US(N),3,1))*16+ VAL(“&H+MID$(US(N),4,1))
NEXT

PRINT

PRINT

GOTO 55

BCC=ASC(LEFT(BC$,1));

L=LEN(BC$)

FOR N=2 TO L

BCC=BCC XOR ASC(MID$(BC$,N,1))

NEXT N

BCC$=HEX$(BCC)

IF(LEN(BCC$)=1 THEN BCC$="0"+BCC$

RETURN

s , :"INPUT ADDRESS=" MR13 ,
, 012. , :"NEW ORDER=" . PV R01000,
,MR13 COM , 5-4. “ MR13.BAS”

:MR13.BAS



i

PC COM1

e ]

MR13 ,
MR13

Input type | Code Measure range Code Measure range

*1 B 01 0 1800 15 0 3300
02 0 1700 16 0 3100

S 03 0 1700 17 0 3100

04 -100.0 400.0 18 -150 750

K 05 0.0 800.0 19 0 1500

06 0 1200 20 0 2200

E 07 0 700 21 0 1300

J 08 0 600 22 0 1100




*2 T 09 |-199.9  200.0 23 | -300 400
N 10 0 1300 24 0 2300
PL 11 0 1300 25 0 2300
Wre5-26 12 0 2300 26 0 4200
*2 U 13 | -199.9  200.0 27 | -300 400
L 14 0 600 28 0 1100
31 | -200 600 47 | -300 1100
32 |-100.0  100.0 48 | -150.0  200.0
Pt100 33 |-100.0  300.0 49 | -150 600
(New) 34 -50.0 50.0 50 -50.0  120.0
JIS/IEC 35 |[*30.0 50.0 51 0.0 120.0
36 0.0  100.0 52 0.0  200.0
37 0.0  200.0 53 0.0  400.0
38 0.0 500.0 54 0 1000
39 | -200 500 55 | -300 900
JPt100 40 |-100.0  100.0 56 | -150.0  200.0
41 |-100.0  300.0 57 | -150 600
(Old) 42 | -50.0  50.0 58 | -50.0 120.0
1S 43 | *3 0.0 50.0 59 0.0 120.0
44 0.0  100.0 60 0.0  200.0
45 0.0 200.0 61 0.0  400.0
46 0.0  500.0 62 0 900
mv|-10 10| 71
0 10| 72
0 20| 73
0 50 74 -1999 9999
10 50 75 10 5000 <
0 100| 76
V -1 1 81 1 B 400 750
0 1 82
0 2 83 2 T U -199.9  100.0
0 s 84 + 0.5%
1 s a5 3 + 0.3 + 0.8
0 10| 86
mA 0 20| 94
4 20| 95
ASCII
b7b6b5| 000 001 010 | 011 | 100 | 101 | 110 | 111
b4 0 1 2 3 4 5 6 7
bl
0000 0 NUL |TC7(DLE)| SP | O 0 3 ) 3
0001 1 |TC1(SOH)| DC1 ! 1 A Q a q
0010 2 |TC2(STX)| DC2 " 2 B R b r
0011 3 |TC3(ETX)| DC3 # 3 o S c s




0100 4 [Tca(eom)| Dca $ | 4| b0 [T ]d]t
0101 5 |TCs5(ENQ)|TCB(QNAK)| % | 5 | E | U | e | u
0110 6 |Tce(ACK)|[TCO(SYN)| & | 6 | F [ v | £ | v
0111 7 BEL [TCI10(ETB)| 76w g w
1000 8 | FEO(BS) | CAN (| s v x| nlx
1001 9 | FEI(HT) | EM y | 9 by | i |y
1010 A |FE2(LF) | suB ~ 1l a1z z
1011 B | FE3(VT) | ESC + - K | [ | k I
1100 C | FEA(FF) | 1S4(FS) | , < L[N ] I
1101 D |FES(CR) | 1S3GS) | - | = | w mo| ]
1110 E SO | 1S2(RS) | . > | N n | -
1111 F sl 1stus)y | 7/ | 2 | o | - | o |DEL




